









































































































https://www.youtube.com/watch?v=3CC4N4z3GJc






















































































GradientBoostingModel

GBM for regression

t original data
r

for continues model it's gradientboost for regression

TGB Algo



































































































































































































GB starts with a Leaf

it
Iusuallymaximumnumberof
tree between f 32
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2 we calculate the errors

took mean as y
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errors are the psedualresidual

3 then we built a new
tree with Xi Xu X

X X Xy Yr
to predict the fiance

then we get a tree
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now combine original leaf
with new tree

to make prediction

for individual obs

from training data

Isameas
observedweight

L

so we will scale

the tree with

learning rater

with learningrates itmeans

rightdirection



































































































































































































1st 2729 88 729 1511

we repeat the process
proginalmean fromfirst tree

from
second tree

y
another small step



































































































































































































GB for classification



































































































































































































initialPrediction

y 4Yes

i infotheodds

j
way of turning it to

prob

Since majorityagreewith is yes

so initial is yes
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then we build the tree

I
log
rig

É
Log 7 0.7
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